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CLOZE TEST-4
Learning to keep our environment...(1)....is absolutely necessary....(2)....polluted environment affects us 

in many ways. It is needless to stress the importance....(3) ....fresh air, pure water and clean surroundings. We 
must....(4)....an earnest effort to achieve this laudable...(5).. Firstly, we must keep our house and its 
.....(6)....clean. Garbage of all kinds must be disposed ....(7).... promptly. Secondly, drains should be kept ....(8).... 
preventing disease carrying flies and mosquitoes ....(9).... in them. Lastly, water should not be allowed to 
stagnate ....(10)....mosquitoes breed in these puddles and spread diseases like malaria, filaria and dengue fever. 
1. (a) strong (b) happy (c) shabby (d) clean
2. (a) if (b) for (c) but (d) so
3. (a) by (b) in (c) of (d) from 
4. (a) make (b) get (c) find (d) do 
5. (a) View (b) goal (c) wish (d) desire 
6. (a) clothes (b) inmates (c) items (d) surroundings 
7. (a) of (b) off (c) out (d) down 
8. (a) closed (b) opened (c) covered (d) tight 
9. (a) sitting (b) sleeping (c) breeding (d) flying 
10. (a) if (b) as (c) also (d) but
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.CLOZE TEST-5
Pythons are .... (l) ... non venomous snakes found ....(2).... in damp places or rocky ledges near marshes 

or in dense ...(3)... They are considered to be the most primitive....(4).... the living snakes ....(5)..... they retain 
the traces of hind limbs of a ....(6).... era in the form ....(7).... horny claw like spurs. which are present ....(8).... 
either side of ....(9).... anus. These hind limbs are functionless ....(10).... female pythons. 
1. (a) small (b) tiny (c) cute (d) huge 
2. (a) mostly (b) rarely (c) occasionally (d) hardly 
3. (a) cities (b) towns (c) hills (d) homes 
4. (a) between (b) in (c) among (d) over 
5. (a) so (b) because (c) and (d) but 
6. (a) by gone (b) latest (c) present (d) recent 
7. (a) in (b) for (c) on (d) of 
8. (a) over (b) above (c) on (d) in 
9. (a) the (b) a (c) an (d) that 

10. (a) with (b) among (c) on (d) in

5



.

. Write an essay in 300 words.

She sent me  a word of her late arrival.

I will keep my words.

She had words with me regarding Mumbai trip.



.

Sita is true to ……………... 

a) her word

b) her words

c) the words

d) words 



NOUN 

. Kinds           Gender                    Number   

proper          masculine               Countable         Sing.       Plural

Common      Feminine                 Uncountable    Sing.

Material        common 

Abstract        neuter 

Collective  



.

. (i) The jury is/are divided in their verdict.

(ii) The committee is/are unanimous on this issue.

(iii) The team is/are divided over the decision of captainship.
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. Singular Plural
Brother-in-law Brothers-in-law
Step-son/daughter Step-sons/daughters
Maid servant Maid servants
Man/woman-servant Men/women-Servants
Man-Lover/hater Man-Lovers/haters
Cupful/handful Cupfuls/handfuls
Girl/boyfriend Girl/boyfriends
Class-fellow Class-fellows



.

. Fish Fish 

Sheep Sheep

Deer Deer

Series Series

Species Species

Offspring Offspring

Headquarters Headquarters

Aircraft Aircraft



.

. 



.

. 1. The Manager put forward a)/ a number of criterions b)/ for 
the post. c)/ No Error d)

2. Alms a)/ are given b)/ to the poors. c)/ No error d)

3. The present datas a)/ show that the illiteracy rate b)/ in india
has fallen down but not to the level of expectation. c)/ No error 
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4. The sheafs a)/ of the wheat- plants were too heavy b)/ for me 
to carry on the head. c)/ No error d)

5. ‘Language consists of several stratums’, a)/ said a linguist b) in 
his lecture on language. c)/No error d)
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6. I shall not go to party tonight a)/ since I have many works to 
complete b)/ before I give presentation tomorrow. c)/ No error 
d)
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7. He was offered a)/ lecturereship b)/ by the committee. c)/ No 
error d)

8. The house a)/ was divided in its b)/ opinion. c)/ No error d)
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• 9. One must be always a)/ true to one's words b)/ if one 
wants to get respect from everyone. c)/ No error d) 

• 10. The sceneries a)/ of Kashmir is b)/ very charming. c)/ No 
error d)
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• 12. He paid the caretaker for his board and lodging.

• A)  Room

• B)   furniture

• C) boarding 

• D) No improvement



.

. 
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1. The proceeds were/was deposited in the bank.
2.  Wages of sin is/are death.
3.  Our infantry has/ have marched forward.
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(i) No news is good news.

(ii) Politics is my favourite subject.

(iii)Economics is an interesting subject.



.

(iv) My politics is/are not very good.

(v) The mathematics of this boy is/are excellent. 



.

. 



.

. (iii) He gave me three informations.

(iv) Many furnitures are available in that shop.

(v) He ate two breads. 



.

• REARRANGEMENT-1
• Direction: Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the 

proper sequence to form a meaningful paragraph; then answer the questions 
given below them.

• (A) Its current was very powerful and could take away big tree trunks. 
• (B) There were some children, playing on the bank of waterway.
• (C) In the forest of Madhubani, there is a big lake.
• (D) The lake water started flowing forcefully through the waterway.
• (E) Once there was a very heavy rain because of which the lake started 

overflowing.
• (F) A poor man noticed it and rushed to save them.



.

• 1. Which is the FIRST sentence of the paragraph?
• a) A b) B c) C d) D e) E
• 2. Which is the FOURTH sentence of the  paragraph? 
• a) A b) B c) C d)  D e) E
• 3. Which is the LAST sentence of the paragraph?  
• a) A b)  B c) D d)  E e) F
• 4. Which is the THIRD sentence of the paragraph?  
• a) A b) B c) C d) D e) E
• 5. Which is the FIFTH sentence of the paragraph? 
• a) A b) C c) D d) E e) B



A. But all three have one focus – individual performance improvement.

B. The importance of each component will vary from organization to organization 

according to the complexity of the operations.

C. They are individual development, career development and organizational 

development.

D. Since individual performance improvement is the heart of HRD programme, HRD 

can be described as the area of congruence among the three components.

E. There are three fundamental component areas of human resource development.

F. It will also vary according to the criticality of human resources to organizational 

efficiency and organization's commitment to improve human resources.



1. Which of the following will be the SIXTH sentence?

1) C 2) F 3) B 4) D 5) A 

2. Which of the following will be the FOURTH sentence?

1) F 2) C 3) D 4) B 5) A

3. Which of the following will be the SECOND sentence?

1) D 2) E 3) B 4) F 5) C

4. Which of the following will be the FIRST sentence?

1) D 2) E 3) F 4) B 5) C

5. Which of the following will be the THIRD sentence?

1) D 2) E 3) F 4) B 5) C


